[ normalized x? probability |

Entries —{Entries 180437
Mean 09596 Mean 05701
Std Dev 0.3059
L Entries 180060
-2 L. Mean 0.5715
10°F v 0.3052
Eo 180054 + " [Entries 180054
= 0952 t | Mean 05715
10°F""* + - | std Dev 0.30
107F
-5
10

0'“0 2 4 6 8 10 12 14 16 18 20 EO 0102030405060.70809 1
X2 Prob(x?)

— MKEIT_XIMInusPU_retrain

m—m— DOM_mkFit_XiMinusPU_NEWdefault_specPLess1

— DOQM_mKkFit_XiMinusPU_NEWdefault_specPLess2

s D i i

[R—1 )

QM_mkFit_XiMinusPU_NEWdefault_specPLess3
QM_mkFit_XiMinusPU_NEWdefault_specPLess4

0.

>

< x2/ndf >

Ratio

< x2/ ndf >
< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


